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Question 1 (25 marks)

	 x 	 13 	 14 	 15 	 16

	 P(X = x) 	 0·383 	 0·575 	 0·038	 0·004

1 – 0·383 – 0·575 – 0·004 = 0·038

E X xP x( ) ( ) . . . . .= = × + × + × + × =∑ 13 0 383 14 0 575 15 0 038 16 0 004 13 663

n = 10
r = 6
p(14) = 0·575
q(Not 14) = 0·425

Question 1 (a)

Question 1 (b)
E(X) represents the mean value of the age of all the second year students on 1 January 2010.

Question 1 (c)

P C( ) ( . ) ( . )6 out of 10 are 14 years of age = × =10

6

6 40 575 0 425 0..248

Bernoulli Trials
p = P(Success), q = P(Failure)

P(r successes) = n r
r n rC p q −
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